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AR HE|WK| & B BE| WK | B B HE
01 | £% 11 19 | &4& 1 38 EiR&E 1
02 | HZ 1| 20 | OBl 1 39 BFIZ44 8
03 | FEEER 1| 21 | sk 1 40 AEETEG | 4
04 | ERIELRRE 1 22 | 0BUER 1 41 B 1R 1
05 | BiEtgsk 2 | 23 | oRuEB 1 42 e 1
06 | &k 2 | 24 | HEER 1 43 R R 1
07 | BEEF 1| 25 | Hm&h 1 44 1244 4
08 | BiEHEF 1| 26 | 124 1 45 HR e 1
09 | RIGIEAE 1] 27 | REE 1 46 ERETE 1
10 | SRELEE 1| 28 | 24 4 47 BREE 1
1M [ 1RsR 1| 29 | ERlinER 1 48 Rk B 1
12 | 1244 1| 30 | 12& 3 49 F R R % 1
13 | B 1 31 | AUTEENEER 1 50 REM 1
14 | SEHF 1| 33 | BBIKE 4 51 EBh%k 2
15 | 0BYIR 1 34 | RERH 4 52 FEST 1
16 | FEER 1| 35 | 184 4 53 FER 1
17 | RSmER 1] 36 | ERE 1 54 TR MEEKRE 1
18 | IR SmEMET 1 37 | EiRERA 1




